Potenciales estandar de reduccion en soluciones acuosas a 25°C (en V)

F,+2e ™ 2F 2.80
Au +e = Au 1,70
PbO, + 4H +S0O,> +2e == PbSO, + 2H,0O 1,69
MnO4 + 8H' + 5e == Mn’" + 4H,0 1.51
Aut +3e T=au 1.50
Ch+2e = 2C1° 1.36
O, +4H + 4e 2H,0 1,23
Br, (1) + 26 == 2Br~ 1,07
AuCly™+3e = Au+4Cl- 1,00
NO; +4H +3e ¥~ NO +2H,0 0,96
Ag +e+= Ag 0,80
Fe’" +e = Fe™ 0,77
IL+2 = 21" 0.54
NiO, + 2H,0 + 2e = Ni (OH),+ 20H ~ 0.49
0, +2H,0 +4¢ == 40H" 0.40
Cu™+2e ¥ Cu 0,34
SO,~ + 4H' + 2e = SO, + 2H,0 0.17
HgO + H,0 +2¢ = Hg+2HO ~ 0,098
2H +2e = H, 0.00
Pb>* +2¢e = Pb -0.13
Sn°"+2e == Sn 0,14
Hg,Cl, + 2¢ == 2Hg +2Cl"~ 0,24
Ni* +2e = Ni -0.25
Co™ +2e = Co -0.28
Pb SO4+2e == Pb + SO, -0.36
Cd*+2e = Cd -0,40
Fe’* +2e == Fe -0.44
S+2e == &~ -0,48
Zn* +2e = Zn -0.76
Cd (OH), +2e ¥ Cd+20H" -0.81
2H,0+2e = H,+20H" -0.83
ZnO + H,0 +2e == Zn+20H" -1.25
APT+3e = Al -1.66
Mg™ +2¢e = Mg 2,37
Mg (OH), +2¢ == Mg+20H" -2.69
Na +e ¥ Na -2.71
K'+e = K 2,93
Cu(OH); +2e = Cu+20H" -3.03

Li"+e = 1i -3.05



